## Calculation Base of Administrative Monetary Penalty

Subtotal	Yen	3,070,000	

			-						Value	Value of Sale and Purchase					
Code	Issuer	Date	Time (hh:mm:ss - hh:mm:ss)	Initial Price	Highest Price	Lowest Price		Sale (Y	en)···X			Purchase	e (Yen)····Y		X-Y=Z
			,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,				Shares	Price	Value	Note	Shares	Price	Value	Note	
2206	Ezaki Glico Co., Ltd.	12/8/2014	12:32:48.223 - 14:28:24.703	-	-	-	100	4,430.5	443,050		1,800	4,425.0	7,965,000		
							100	4,430.0	443,000		1,400	4,425.0	6,195,000		
							100	4,430.0	443,000		900	4,425.0	3,982,500		
							100	4,430.0	443,000		500	4,425.0	2,212,500		
							100	4,430.0	443,000		100	4,425.0	442,500		
							100	4,430.0	443,000		1,000	4,425.0	4,425,000		
							100	4,430.0	443,000		200	4,425.0	885,000		
							100	4,430.0	443,000		400	4,425.0	1,770,000		
							100	4,430.0	443,000		100	4,425.0	442,500		
							100	4,430.0	443,000		100	4,425.0	442,500		
							100	4,430.0	443,000		600	4,425.0	2,655,000		
							100	4,430.0	443,000		100	4,425.0	442,500		
							100	4,430.0	443,000		100	4,440.0	444,000		
							100	4,430.0	443,000		100	4,440.0	444,000		
							100	4,430.0	443,000		100	4,440.0	444,000		
							100	4,430.0	443,000		100	4,440.0	444,000		
							100	4,430.0	443,000		100	4,445.0	444,500		
							100	4,430.0	443,000		100	4,450.0	445,000		
							100	4,430.0	443,000		2,600	4,420.0	11,492,000		
							100	4,435.0	443,500		700	4,420.0	3,094,000		
							100	4,430.0	443,000		2,000	4,420.0	8,840,000		
							2,700	4,455.0	12,028,500		100	4,420.0	442,000		
							2,300	4,455.0	10,246,500		2,600	4,420.0	11,492,000		
							2,800	4,455.0	12,474,000		1,000	4,420.0	4,420,000		
							100	4,455.0	445,500		1,400	4,420.0	6,188,000		
							100	4,455.0	445,500		1,100	4,420.0	4,862,000		
							600	4,455.0	2,673,000		2,400	4,420.0	10,608,000		
							500	4,455.0	2,227,500		2,400	4,420.0	10,608,000		
							300	4,455.0	1,336,500		3,200	4,420.0	14,144,000		
							100	4,455.0	445,500		200	4,420.0	884,000		
							100	4,455.0	445,500		100	4,420.0	442,000		
							300	4,455.0	1,336,500		400	4,420.0	1,768,000		
							400	4,455.0	1,782,000		400	4,420.0	1,768,000		
							400	4,455.0	1,782,000		400	4,420.0	1,768,000		
							100	4,445.5	444,550		400	4,420.0	1,768,000		
							100	4,445.5	444,550		400	4,420.0	1,768,000		
							100	4,450.0	445,000		500	4,420.0	2,210,000		
							100	4,442.5	444,250		100	4,420.0	442,000		
							100	4,440.0	444,000		100	4,420.0	442,000		
							100	4,440.0	444,000		300	4,419.9	1,325,970		
							100	4,440.0	444,000		300	4,419.5	1,325,850		
							100	4,435.0	443,500		700	4,420.0	3,094,000		
							100	4,435.0	443,500		100	4,429.5	442,950		
							100	4,435.0	443,500		100	4,430.0	443,000		
							100	4,435.0	443,500		100	4,430.0	443,000		
							100	4,430.0	443,000		100	4,433.3	443,330		
							100	4,430.0	443,000		100	4,433.3	443,330		
							100	4,430.0	443,000		100	4,433.3	443,330		
							100	4,430.0	443,000		100	4,433.3	443,330		
							100	4,425.0	442,500		100	4,433.3	443,330		
							100	4,425.0	442,500		100	4,433.3	443,330		
							100	4,425.0	442,500		100	4,435.0	443,500		
							100	4,425.0	442,500		100	4,435.0	443,500		
							100	4,425.0	442,500		100	4,435.0	443,500		
							100	4,425.0	442,500		100	4,435.0	443,500		
							100	4,425.0	442,500		100	4,435.0	443,500		
							100	4,425.0	442,500		100	4,435.0	443,500	_	
							100	4,425.0	442,500		100	4,435.0	443,500	_	
							100	4,425.0	442,500		100	4,435.0	443,500	_	
							100	4,425.0	442,500		100	4,435.0	443,500		
	1	1		I			100	4,425.0	442,500		100	4,440.0	444,000	_	

<sup>(1) &</sup>quot;Initial Price" is the share price at the commencement of each violation. "Highest price" is the highest share price, and "Lowest Price" is the lowest share price, during a one-month period following the termination of each violation.

(2) The highlighted portion shows the following calculation: (Value pertaining to sale, etc. of securities on its own account) - (Value pertaining to purchase, etc. of securities on its own account)

- (1) "Initial Price" is the share price at the commencement of each violation. "Highest price" is the highest share price, and "Lowest Price" is the lowest share price, during a one-month period following the termination of each violation.

  (2) The highlighted portion shows the following calculation: (Value pertaining to sale, etc. of securities on its own account) (Value pertaining to purchase, etc. of securities on its own account)

Date										Value o	f Sale and Pu	rchase	e		(0)	it: Yen, Share
	Code	Issuer	Date						Sale (\	∕en)···X			Purchase	(Yen)···Y		X-Y=Z
100   44250   44250   100   44400   44400   14400   100   14400   14				(	. 1700	. 1106	. 1106	Shares	Price	Value	Note Sha	res	Price	Value	Note	
100   64296   044200   100   64400   444000   100   64400   644000   6																
100																
100															-	
2.200   4-8100   0.001-5000   100   4-4400   4-44100   100   100   4-4410   4-44100   100   100   4-4410   4-44100   100   4-4410   4-44100   100   4-4410   4-44100   100   4-4410   4-44100   100   4-4410   4-44100   100   4-4410   4-44100   100   4-4410   4-44100   100   4-4410   4-44100   100   4-4410   4-44100   100   4-4410   4-44100															-	
1.000																
1000   4-4000   4-4000   100   4-4400   4-4000   100   4-4400   4-4000   1-40000   1-4000   1-4000   1-4000   1-4000   1-40000   1-40000   1-40000   1-40000   1-40000   1-4																
2000   44500   11.97000   100   44400   444500   444500   160   44400   444500   445500   4																
100																
100   4,4510   1,5500   100   4,4510   4,6500   4,64500   4,64500   4,64500   1,100   4,4500   4,64500																
400   4,4500   1300   4,4500   160   4,4500   461,000     100   4,4400   444,000   160   4,4500   461,000     110   4,4400   444,000   170   4,4600   461,000     110   4,4400   444,000   170   4,4600   461,000     110   4,4500   441,000   170   4,4600   461,000     110   4,4500   441,000   170   4,4600   461,000     110   4,4500   441,000   170   4,600   461,000     110   4,4500   441,000   170   4,4600   461,000     110   4,4500   441,000   170   4,4600   461,000     110   4,4500   441,000   170   4,4600   461,000     110   4,4500   441,000   170   4,4600   461,000     110   4,4500   441,000   170   4,4600   461,000     110   4,4500   441,000   170   4,4600   461,000     110   4,4500   441,000   170   4,4600   461,000     110   4,4500   441,000   170   4,4600   461,000     110   4,4500   441,000   170   4,4600   461,000     110   4,4500   441,000   170   4,4600   461,000     110   4,4500   441,000   170   4,4600   461,000     110   4,4500   441,000   170   4,4600   461,000     110   4,4500   441,000   170   4,4600   461,000     110   4,4500   441,000   170   4,4600   461,000     110   4,4500   441,000   170   4,4600   461,000     110   4,4500   441,000   170   4,4600   461,000     110   4,4500   441,000   170   4,4600   441,000     110   4,4500   441,000   170   4,4600   441,000     110   4,4500   441,000   170   4,4600   441,000     110   4,4500   441,000   170   4,4600   441,000     110   4,4500   441,000   170   4,4600   441,000     110   4,4500   441,000   170   4,4600   441,000     110   4,4500   441,000   170   4,4600   441,000     110   4,4500   441,000   170   4,4600   441,000     110   4,4500   441,000   170   4,4600   441,000     110   4,4500   441,000   170   4,4600   441,000     110   4,4500   441,000   170   4,4600   441,000     110   4,4500   441,000   170   4,4600   441,000     110   4,4500   441,000   170   4,4600   4,4600     110   4,4500   441,000   170   4,4600   4,4600     110   4,4500   441,000   170   4,4600   4,4600     110   4,4500   441,000   170   4,4600   4,4600     110   4,4500								100	4,451.0							
100								800	4,450.0	3,560,000		100	4,445.0	444,500		
100								400	4,450.0	1,780,000		100	4,450.0	445,000		
1900   4,448,00   444,000   100   4,450,00   448,000   100   4,450,00   100   4,450,00   100   4,450,00   100   4,450,00   100   4,450,00   144,000   100   4,450,00   144,000								100	4,445.0	444,500		100	4,450.0	445,000		
100   4,43,00   443,000   100   4,440,00   448,000   100   4,430,00   448,000   100   4,440,00   448,00   448,000   100   4,440,00   448																
100   4,435.0   443.000   100   4,430.0   100   4,430.0																
100   4,4850   445,500   100   4,4800   445,000   140,000   4,4800   445,0															-	
100															-	
100															-	
100   4.4900   100   4.4900   100   4.4900   4.4900   100   4.4900   100   4.4900   100   4.4900   100   4.4900   4.4900   100   4.4900   14.690																
100																
100   4.4300   140   4.4500   140   4.4500   4.4500   100   4.4500   100   4.4500   140   4.4500   100   4.4500   140   4.4500   100   4.4500   140   4.4500   100   4.4500   100   4.4500   100   4.4500   100   4.4500   100   4.4500   100   4.4500   100   4.4500   100   4.4500   100   4.4500   100   4.4500   100   4.4500   100   4.4500   100   4.4500   100   4.4500   100   4.4500   1.1275000   1.1275000																
100																
100																
100																
100																
100																
3,000   4,425.0   1,400.250.0   10.0   4,425.0   4,425.0   1,770.000								100	4,430.0	443,000		700	4,425.0	3,097,500		
1,300 4,455 0 10,592,000 100 4425 0 4425 0 17,792,000 100 4455 0 10,425 0 10,000 100 4455 0 10,000 100 4455 0 10,000 100 4455 0 10,000 100 100 4455 0 10,000 11,000 14,000 11,000 14,000 11,000 11,000 14,000 11,000 14,000 11,000 14,000 11,000 14,000 11,000 14,000 11,000 14,000 11,000 11,000 11,000 11,000 11,000 11,000 11,000 11,000 11,000 11,000 11,000 11,000 11,000 11,000 11,000 14,000 11,000 11,000 11,000 11,000 11,000 11,000 11,000 11,000 11,000 14,000 11,000								100	4,425.0	442,500		400	4,425.0	1,770,000		
2,400   4,450   3,450   1,092,000   13,00   4,420   3,752,200   15,00   4,450   3,450   4,450   3,450   13,00   4,420   3,752,200   15,00   4,450   3,867,000   13,00   4,430   4,430   4,430   16,000   10,000   1,100   4,430   4,430   1,430   4,430   1,400   4,430   4,430   1,430   4,430   1,430   4,430   1,430   1,430   4,430   1,430   1,430   1,430   1,430   1,430   1,430   1,430   1,430   1,430   1,430   1,430   1,430   1,430   1,430   1,430   1,430   1,772,000   1,100   4,430   3,310,000   1,000   4,430   3,310,000   1,000   4,430   3,310,000   1,000   4,430   3,310,000   1,000   4,430   3,310,000   1,000   4,430   3,310,000   1,000   4,430   3,310,000   1,000   4,430   3,310,000   1,000   4,430   3,310,000   1,000   4,430   3,310,000   1,000   4,430   3,310,000   1,000   4,430   3,310,000   1,000   4,430   3,310,000   1,000   4,430   3,310,000   1,000   4,430   3,310,000   1,000   4,430   3,310,000   1,000   4,430   3,310,000   1,000   4,430   3,310,000   1,000   4,430   4,430   3,310,000   1,000   4,440   4,445,000   1,000   4,430   4,430   4,430   4,430   4,430   4,430   4,430   4,430   4,430   4,430   4,430   4,430   4,430   1,000   4,450   4,450   4,450   4,450   1,000   1,000   4,450   4,450   4,450   1,000   1,000   4,450   4,450   4,450   1,000   1,000   4,450   4,450   4,450   1,000   1,000   4,450   4,450   4,450   1,000   1,000   4,450   4,450   4,450   1,000   1,000   4,450   4,450   4,450   1,000   1,000   4,450   4,450   4,450   1,000   1,000   4,450   4,450   1,000   1,000   4,450   4,450   1,000   1,000   4,450   4,450   1,000   1,000   4,450   4,450   1,000   1,000   4,450   4,450   1,000   1,000   4,450   4,450   1,000								3,300	4,425.0	14,602,500		100	4,425.0	442,500		
1,000								1,300	4,455.0	5,791,500		400	4,425.0	1,770,000		
1,500																
1,800											1					
100															-	
200																
1,900															-	
1,100															-	
100															-	
800   44550   3.554.000   600   4.4300   2.2580.000     100   4.4450   4.44500   1.000   4.4300   2.2637.000     100   4.4450   4.445.000   1.000   4.4300   2.2637.000     100   4.4350   4.435.000   100   4.4451   4.444.500     100   4.4350   4.435.000   100   4.4450   4.445.00     100   4.4350   4.435.000   100   4.4500   4.450.00     100   4.4350   4.435.000   100   4.450.00   4.450.00     100   4.4300   4.430.000   100   4.455.00   4.455.00     100   4.4300   4.430.000   100   4.455.00   4.455.00     100   4.430.00   4.430.000   100   4.455.00   4.455.00     100   4.430.00   4.430.000   100   4.455.00   4.455.00     100   4.430.00   4.430.000   100   4.455.00   4.455.00     100   4.430.00   4.430.000   100   4.455.00   4.455.00     100   4.430.00   4.430.000   100   4.455.00   4.455.00     100   4.430.00   4.430.000   100   4.455.00   4.455.00     100   4.430.00   4.430.000   100   4.455.00   4.455.00     100   4.430.00   4.430.000   100   4.455.00   4.455.00     100   4.430.00   4.430.000   100   4.455.00   4.455.00     100   4.430.00   4.430.000   1.800   4.430.00   7.974.000     100   4.430.00   4.430.000   7.000   4.430.00   7.974.000     100   4.430.00   4.430.000   7.000   4.430.00   7.974.000     100   4.430.00   4.430.000   7.000   4.430.00   7.974.000     100   4.430.00   4.430.000   7.000   4.430.00   7.974.000     100   4.430.00   4.430.000   7.000   4.430.00   7.974.000     100   4.435.00   4.435.000   1.000   4.435.00   4.435.00     100   4.435.00   4.435.000   1.000   4.435.00   4.435.00     100   4.435.00   4.435.000   1.000   4.435.00   4.435.00     100   4.435.00   4.435.000   1.000   4.435.00   4.435.00     100   4.435.00   4.435.000   1.000   4.435.00   4.435.00     100   4.435.00   4.435.000   1.000   4.435.00   4.435.00     100   4.435.00   4.435.000   1.000   4.435.00   4.435.00     100   4.435.00   4.435.000   1.000   4.435.00   4.435.00     100   4.435.00   4.435.000   1.000   4.435.00   4.435.00     100   4.435.00   4.435.000   1.000   4.435.00   4.435.00     100   4.435.00   4.435																
100																
100											1					
100								100	4,440.0	444,000		,900	4,430.0	26,137,000		
100								100	4,435.0	443,500		100	4,441.9	444,190		
100								100	4,435.0	443,500		100	4,445.0	444,500		
100 4,430,0 443,000 100 4,455,0 445,500 100 4,455,0 145,500 100 4,430,0 100 4,455,0 445,500 100 4,430,0 100 4,455,0 445,500 100 4,430,0 100 4,455,0 445,500 100 4,430,0 100 4,455,0 445,500 100 4,430,0 100 4,455,0 445,500 100 4,430,0 100 4,455,0 445,500 100 4,430,0 100 4,455,0 445,500 100 4,430,0 100 4,455,0 445,500 100 4,430,0 100 4,455,0 445,500 100 4,430,0 100 4,455,0 445,500 100 4,430,0 100 4,430,0 100 4,455,0 445,500 100 4,430,0 100 4,435,0 100 4,445,0 100 4,435,0 100 4,435,0 100 4,435,0 100 4,445,0 100 4,445,0 100 4,435,0 100 4,435,0 100 4,435,0 100 4,435,0 100 4,435,0 100 4,435,0 100 4,435,0 100 4,445,0 100 4,435,0 100 4,435,0 100 4,445,0 100 4,435,0 100 4,435,0 100 4,435,0 100 4,435,0 100 4,435,0 100 4,435,0 100 4,435,0 100 4,435,0 100 4,445,0 100 4,445,0 100 4,435,0 100 4,435,0 100 4,445,0 100 4,445,0 100 4,445,0 100 4,445,0 100 4,445,0 100 4,445,0 100 4,445,0 100 4,445,0 100 4,445,0 100 4,445,0 100 4,445,0 100 4,445,0 100 4,445,0 100 4,445,0 10								100	4,435.0	443,500		100	4,450.0	445,000		
100								100				_				
100																
100																
100																
100																
100																
100																
100       4,430.0       1,800       4,430.0       7,974,000         100       4,430.0       443,000       700       4,430.0       3,101,000         100       4,430.0       443,000       300       4,430.0       1,329,000         500       4,430.0       2,215,000       100       4,430.0       443,000         500       4,430.0       2,215,000       100       4,435.0       3,104,500         100       4,430.0       2,215,000       100       4,435.0       443,500         100       4,435.0       443,500       100       4,435.0       443,500         100       4,435.0       443,500       100       4,435.0       443,500         100       4,435.0       443,500       100       4,435.0       3,104,500         100       4,435.0       443,500       100       4,435.0       1,330,500         100       4,435.0       443,500       300       4,435.0       1,330,500         100       4,435.0       443,500       900       4,435.0       3,991,500         100       4,435.0       443,500       100       4,435.0       87,000         100       4,435.0       443,500       100																
100       4,430.0       443,000       700       4,430.0       3,101,000         100       4,430.0       443,000       300       4,430.0       1,329,000         500       4,430.0       2,215,000       200       4,430.0       443,000         500       4,430.0       443,000       700       4,435.0       443,500         500       4,430.0       443,500       100       4,435.0       443,500         100       4,435.0       443,500       500       4,435.0       443,500         100       4,435.0       443,500       100       4,435.0       443,500         100       4,435.0       443,500       700       4,435.0       443,500         100       4,435.0       443,500       700       4,435.0       443,500         100       4,435.0       443,500       300       4,435.0       1,330,500         100       4,435.0       443,500       300       4,435.0       3,991,500         100       4,435.0       443,500       900       4,435.0       387,000         100       4,435.0       443,500       100       4,435.0       443,500         100       4,435.0       443,500       100																
100       4,430.0       443.00       300       4,30.0       1,329,000         500       4,430.0       2,215,000       200       4,430.0       886,000         500       4,430.0       2,215,000       100       4,430.0       443,000         100       4,430.0       2,215,000       100       4,435.0       443,500         100       4,435.0       443,500       500       4,435.0       443,500         100       4,435.0       443,500       500       4,435.0       443,500         100       4,435.0       443,500       700       4,435.0       443,500         100       4,435.0       443,500       700       4,435.0       3,104,500         100       4,435.0       443,500       300       4,435.0       3,104,500         100       4,435.0       443,500       300       4,435.0       3,991,500         100       4,435.0       443,500       900       4,435.0       3,991,500         100       4,435.0       443,500       100       4,435.0       435.0       3,991,500         100       4,435.0       443,500       100       4,435.0       443,500       4,445.0       4,440.00																
500       4,430.0       2,215,000       200       4,330.0       886,000         500       4,430.0       2,215,000       100       4,430.0       443,000         100       4,430.0       443,000       700       4,435.0       3,104,500         100       4,435.0       443,500       500       4,435.0       443,500         100       4,435.0       443,500       500       4,435.0       443,500         100       4,435.0       443,500       700       4,435.0       3,104,500         100       4,435.0       443,500       300       4,435.0       3,104,500         100       4,435.0       443,500       300       4,435.0       3,104,500         100       4,435.0       443,500       300       4,435.0       3,104,500         100       4,435.0       443,500       300       4,435.0       3,991,500         100       4,435.0       443,500       900       4,435.0       3,991,500         100       4,435.0       443,500       100       4,435.0       443,500         100       4,435.0       443,500       100       4,440.0       4,440.00         4,435.0       443,500       100																
500       4,430.0       2,215,000       100       4,430.0       443,000         100       4,430.0       443,000       700       4,435.0       3,104,500         500       4,435.0       2,215,000       100       4,435.0       443,500         100       4,435.0       443,500       500       4,435.0       2,217,500         100       4,435.0       443,500       100       4,435.0       3,104,500         100       4,435.0       443,500       300       4,435.0       3,104,500         100       4,435.0       443,500       300       4,435.0       1,330,500         100       4,435.0       443,500       900       4,435.0       3,991,500         100       4,435.0       443,500       200       4,435.0       887,000         100       4,435.0       443,500       100       4,435.0       443,500         100       4,435.0       443,500       100       4,440.0       4,440,000         100       4,435.0       443,500       100       4,440.0       4,440,00         100       4,435.0       443,500       100       4,440.0       4,440,00         100       4,435.0       443,500																
100       4,430.0       443,000       700       4,435.0       3,104,500         500       4,430.0       2,215,000       100       4,435.0       443,500         100       4,435.0       443,500       500       4,435.0       2,217,500         100       4,435.0       443,500       100       4,435.0       443,500         100       4,435.0       443,500       300       4,435.0       3,104,500         100       4,435.0       443,500       300       4,435.0       1,330,500         100       4,435.0       443,500       900       4,435.0       3,991,500         100       4,435.0       443,500       900       4,435.0       887,000         100       4,435.0       443,500       100       4,435.0       443,500         100       4,435.0       443,500       100       4,440.0       4,440,00         100       4,435.0       443,500       1,000       4,440.0       4,440,00         100       4,435.0       443,500       100       4,440.0       4,440,00         100       4,435.0       443,500       100       4,440.0       4,440,00         100       4,435.0       443,500																
500       4,430.0       2,215,000       100       4,435.0       443,500         100       4,435.0       443,500       500       4,435.0       2,217,500         100       4,435.0       443,500       100       4,435.0       443,500         100       4,435.0       443,500       700       4,435.0       3,104,500         100       4,435.0       443,500       300       4,435.0       3,991,500         100       4,435.0       443,500       900       4,435.0       887,000         100       4,435.0       443,500       100       4,435.0       435.0       435.0         100       4,435.0       443,500       100       4,435.0       443,500       443,500         100       4,435.0       443,500       100       4,440.0       4,440,000         4,435.0       443,500       100       4,440.0       4,440,00         100       4,435.0       443,500       80       4,440.0       3,552,000         100       4,435.0       443,500       100       4,440.0       3,552,000         100       4,435.0       443,500       100       4,445.0       444,500												_				
100       4.435.0       443,500       500       4.435.0       2,217,500         100       4.435.0       443,500       100       4,435.0       443,500         100       4.435.0       443,500       700       4.435.0       3,104,500         100       4.435.0       443,500       300       4.435.0       3,991,500         100       4.435.0       443,500       200       4.435.0       887,000         100       4.435.0       443,500       100       4.435.0       443,500         100       4.435.0       443,500       100       4.435.0       443,500         100       4.435.0       443,500       100       4.440.0       4,440,000         100       4.435.0       443,500       100       4,440.0       4,440,00         100       4.435.0       443,500       800       4,440.0       3,552,000         100       4.435.0       443,500       100       4,445.0       444,500         100       4.435.0       443,500       100       4,445.0       445,000																
100       4,435.0       443,500       700       4,435.0       3,104,500         100       4,435.0       443,500       300       4,435.0       1,330,500         100       4,435.0       443,500       900       4,435.0       3,991,500         100       4,435.0       443,500       200       4,435.0       887,000         100       4,435.0       443,500       100       4,435.0       443,500         100       4,435.0       443,500       1,000       4,440.0       4,440,000         100       4,435.0       443,500       100       4,440.0       444,000         100       4,435.0       443,500       800       4,440.0       3,552,000         100       4,435.0       443,500       100       4,445.0       444,500         100       4,435.0       443,500       100       4,445.0       444,500         100       4,435.0       443,500       100       4,445.0       444,500								100	4,435.0			500	4,435.0			
100       4,435.0       443,500       300       4,435.0       1,330,500         100       4,435.0       443,500       900       4,435.0       3,991,500         100       4,435.0       443,500       200       4,435.0       887,000         100       4,435.0       443,500       100       4,435.0       443,500         100       4,435.0       443,500       1,000       4,440.0       4,440,000         100       4,435.1       443,510       100       4,440.0       444,000         100       4,435.0       443,500       800       4,440.0       3,552,000         100       4,435.0       443,500       100       4,445.0       444,500         100       4,435.0       443,500       100       4,445.0       444,500								100	4,435.0	443,500		100	4,435.0	443,500		
100       4,435.0       443,500       900       4,435.0       3,991,500         100       4,435.0       443,500       200       4,435.0       887,000         100       4,435.0       443,500       100       4,435.0       443,500         100       4,435.0       443,500       1,000       4,440.0       4,440,000         100       4,435.1       443,500       100       4,440.0       444,000         100       4,435.0       443,500       800       4,440.0       3,552,000         100       4,435.0       443,500       100       4,445.0       444,500         100       4,435.0       443,500       100       4,445.0       444,500         100       4,435.0       443,500       100       4,445.0       445,000								100								
100     4,435.0     443,500     200     4,435.0     887,000       100     4,435.0     443,500     100     4,435.0     443,500       100     4,435.0     443,500     1,000     4,440.0     4,440,000       100     4,435.0     443,500     100     4,440.0     444,000       100     4,435.0     443,500     100     4,440.0     444,000       100     4,435.0     443,500     800     4,440.0     3,552,000       100     4,435.0     443,500     100     4,445.0     444,500       100     4,435.0     443,500     100     4,450.0     445,000												_				
100     4,435.0     443,500     100     4,435.0     443,500       100     4,435.0     443,500     1,000     4,440.0     4,440,000       100     4,435.0     443,500     100     4,440.0     444,000       100     4,435.0     443,510     100     4,440.0     444,000       100     4,435.0     443,500     800     4,440.0     3,552,000       100     4,435.0     443,500     100     4,445.0     444,500       100     4,435.0     443,500     100     4,450.0     445,000																
100     4,435.0     1.000     4,440.0     4,440.00       100     4,435.0     443,500     100     4,440.0     444,000       100     4,435.1     443,510     100     4,440.0     444,000       100     4,435.0     443,500     800     4,440.0     3,552,000       100     4,435.0     443,500     100     4,445.0     444,500       100     4,435.0     443,500     100     4,450.0     445,000																
100     4,435.0     443,500     100     4,440.0     444,000       100     4,435.1     443,510     100     4,440.0     444,000       100     4,435.0     443,500     800     4,440.0     3,552,000       100     4,435.0     443,500     100     4,445.0     444,500       100     4,435.0     443,500     100     4,450.0     445,000												_				
100     4,435.1     443,510     100     4,440.0     444,000       100     4,435.0     443,500     800     4,440.0     3,552,000       100     4,435.0     443,500     100     4,445.0     444,500       100     4,435.0     443,500     100     4,450.0     445,000																
100     4,435.0     443,500     800     4,440.0     3,552,000       100     4,435.0     443,500     100     4,445.0     444,500       100     4,435.0     443,500     100     4,450.0     445,000																
100     4,435.0     443,500     100     4,445.0       100     4,435.0     443,500     100     4,450.0       445,000     445,000																
100 4,435.0 443,500 100 4,450.0 445,000																
100 4,450.0 100 4,450.0 445,000																
100 4,435.0 443,500 100 4,450.0 445,000												_				

- (1) "Initial Price" is the share price at the commencement of each violation. "Highest price" is the highest share price, and "Lowest Price" is the lowest share price, during a one-month period following the termination of each violation.

  (2) The highlighted portion shows the following calculation: (Value pertaining to sale, etc. of securities on its own account) (Value pertaining to purchase, etc. of securities on its own account)

			Time	Initial	Highest	I nwee+				of Sale	and Purchas				
Code	Issuer	Date	(hh:mm:ss - hh:mm:ss)	Price	Price	Price	CI		′en)···X	NI-2	CI		(Yen)···Y	N-+	X-Y=
							Shares 100	Price 4,435.0	Value 443,500	Note	Shares 100	Price 4,450.0	Value 445,000	Note	
							1,800	4,460.0	8,028,000		100	4,455.0	445,500		
							2,800	4,460.0	12,488,000		100	4,455.0	445,500		
							3,400	4,460.0	15,164,000		100	4,455.0	445,500		
							300	4,460.0	1,338,000		100	4,455.0	445,500		
							100	4,460.0	446,000		100	4,455.0	445,500	-	
							600	4,460.0	2,676,000		100	4,455.0	445,500		
							100	4,460.0 4,460.0	2,676,000 446,000		100	4,455.0 4,455.0	445,500 445,500		
							700	4,460.0	3,122,000		100	4,455.0	445,500		
							100	4,460.0	446,000		100	4,455.0	445,500		
							100	4,445.0	444,500		100	4,455.0	445,500		
							100	4,445.0	444,500		100	4,455.0	445,500		
							100	4,445.0	444,500		100	4,455.0	445,500		
							100	4,445.0 4,440.5	444,500		100	4,455.0	445,500		
							100	4,440.5	444,050 444,050		100	4,455.0 4,460.0	445,500 446,000	-	
							100	4,440.5	444,050		100	4,460.0	446,000		
							100	4,440.5	444,050		100	4,460.0	446,000		
							100	4,440.5	444,050		100	4,460.0	446,000		
							100	4,440.5	444,050		100	4,460.0	446,000		
							100	4,440.5	444,050		100	4,460.0	446,000		
							100	4,440.5	444,050		100	4,460.0	446,000		
							100	4,440.0 4,445.0	444,000 444,500		100	4,460.0 4,460.0	446,000 446,000		
							100	4,445.0	444,500		100	4,460.0	446,000		
							100	4,435.0	443,500		1,000	4,440.0	4,440,000		
							100	4,435.0	443,500		2,500	4,440.0	11,100,000		
							100	4,435.0	443,500		1,000	4,440.0	4,440,000		
							100	4,435.0	443,500		2,900	4,440.0	12,876,000		
							100	4,435.0 4,435.0	443,500	-	600	4,440.0 4,440.0	2,664,000	-	
							500 500	4,435.0	2,217,500 2,217,500		100 100	4,440.0	444,000 444,000	-	
							300	4,435.0	1,330,500		100	4,440.0	444,000		
							100	4,440.0	444,000		1,300	4,440.0	5,772,000		
							100	4,440.0	444,000		100	4,438.4	443,840		
							100	4,440.0	444,000		300	4,440.0	1,332,000		
							100	4,440.0	444,000		1,400	4,445.0	6,223,000		
							100	4,440.0	444,000	-	100	4,445.0	444,500	-	
							100	4,440.0 4,440.0	444,000 444,000		300	4,445.0 4,445.0	1,333,500 1,333,500	-	
							100	4,440.0	444,000		300	4,445.0	1,333,500		
							100	4,440.0	444,000		300	4,445.0	1,333,500		
							100	4,440.0	444,000		700	4,445.0	3,111,500		
							100	4,440.0	444,000		1,100	4,445.0	4,889,500		
							100	4,440.0	444,000		100	4,445.0	444,500		
							100	4,440.0	444,000	-	600	4,445.0	2,667,000	-	
							100 100	4,440.0 4,440.0	444,000 444,000		100	4,456.9 4,460.0	445,690 446,000		
							100	4,435.0	443,500		100	4,460.0	446,000		
							500	4,440.0	2,220,000		100	4,460.0	446,000		
							100	4,445.0	444,500		100	4,465.0	446,500		
							100	4,445.0	444,500		100	4,465.0	446,500		
							2,000	4,460.0	8,920,000		100	4,465.0	446,500		
							1,600	4,460.0	7,136,000		100	4,460.0	446,000		
							2,300 300	4,460.0 4,465.0	1,339,500		100 100	4,460.0 4,460.0	446,000 446,000		
							800	4,465.0 4,465.0	3,572,000		100	4,460.0	446,000		
							200	4,465.0	893,000		100	4,460.0	446,000		
							200	4,465.0	893,000		100	4,460.0	446,000		
							2,000	4,465.0	8,930,000		100	4,465.0	446,500		
							100	4,447.0	444,700		100	4,465.0	446,500		
							100	4,445.0	444,500		100	4,465.0	446,500		
							100	4,450.0 4,450.0	445,000 445,000		100	4,465.0 4,465.0	446,500 446,500		
							100	4,450.0	445,000		100	4,465.0	446,500		
							100	4,445.0	444,500		100	4,465.0	446,500		
							100	4,442.5	444,250		100	4,465.0	446,500		
							100	4,445.0	444,500		100	4,465.0	446,500		
							100	4,445.0	444,500		100	4,465.0	446,500		
							100	4,445.0	444,500		100	4,465.0	446,500		
							100	4,445.0	444,500		100	4,465.0	446,500		
							100	4,445.0 4,445.0	444,500 444,500		100	4,465.0 4,465.0	446,500 446,500		
							100	4,445.0	444,500		100	4,465.0	446,500		
							100	4,445.0	444,500		100	4,465.0	446,500		
							100	4,445.0	444,500		100	4,465.0	446,500		
		1		1			100	4,445.0	444,500		100	4,465.0	446,500		

- (1) "Initial Price" is the share price at the commencement of each violation. "Highest price" is the highest share price, and "Lowest Price" is the lowest share price, during a one-month period following the termination of each violation.

  (2) The highlighted portion shows the following calculation: (Value pertaining to sale, etc. of securities on its own account) (Value pertaining to purchase, etc. of securities on its own account)

									Value of S	Sale and Purchas	e			nit: Yen, Shar
Code	Issuer	Date	Time (hh:mm:ss - hh:mm:ss)	Initial Price	Highest Price	Lowest Price		Sale (	ren)····X		Purchase	(Yen)···Y		X-Y=Z
			(minimiss – minimiss)	Frice	Frice	Frice	Shares	Price	Value N	ote Shares	Price	Value	Note	
							100	4,445.0	444,500	100	4,465.0	446,500		
							100	4,445.0	444,500	100	4,470.0	447,000		
							100	4,445.0	444,500	100	4,470.0	447,000		
							100	4,445.0	444,500	100	4,470.0	447,000		
							100	4,445.0	444,500	100	4,470.0	447,000		
							100	4,445.0	444,500	100	4,470.0	447,000		
							100	4,445.0	444,500	100	4,445.0	444,500		
							100	4,445.0	444,500	2,400	4,445.0	10,668,000		
							500	4,445.0	2,222,500	2,700	4,445.0	12,001,500		
							100	4,445.0	444,500	1,400	4,445.0	6,223,000		
							300	4,445.0	1,333,500	1,500	4,445.0	6,667,500		
							100	4,445.0	444,500	100	4,445.0	444,500		
							100	4,450.0	445,000	400	4,445.0	1,778,000		
							100	4,450.0	445,000	2,000	4,445.0	8,890,000		
							100	4,445.9	444,590	100	4,445.0	444,500	-	
							100	4,445.5	444,550	200	4,450.0	890,000		
							300	4,445.0	1,333,500	600	4,450.0	2,670,000		
							100	4,442.0	444,200	1,600	4,450.0	7,120,000	-	
							100	4,441.0	444,100	400	4,450.0	1,780,000	-	
							300	4,440.0	1,332,000	300	4,450.0	1,335,000		
							500	4,440.0	2,220,000	500	4,455.0	2,227,500		
							100	4,470.0	447,000	100	4,465.0	446,500		
							6,100	4,470.0	27,267,000	100	4,469.6	446,960		
							1,400	4,470.0	6,258,000	100	4,469.6	446,960		
							400	4,470.0	1,788,000	100	4,465.0	446,500		
							1,100	4,470.0 4,470.0	2,682,000	100	4,470.0 4,470.0	447,000		
							1,000	4,470.0	4,917,000 4,470,000	100	4,470.0	447,000 447,000		
							400	4,470.0	1,788,000	100	4,470.0	447,000		
							800	4,470.0	3,576,000	100	4,470.0	447,000	+	
							1,600	4,470.0	7,152,000	100	4,470.0	447,000		
							2,000	4,470.0	8,940,000	100	4,470.0	447,000	+	
							100	4,470.0	447,000	100	4,470.0	447,000		
							100	4,465.0	446,500	100	4,470.0	447,000		
							100	4,465.0	446,500	100	4,470.0	447,000		
							100	4,460.0	446,000	1,900	4,450.0	8,455,000		
							100	4,460.0	446,000	6,100	4,450.0	27,145,000		
							100	4,455.0	445,500	100	4,450.0	445,000		
							100	4,455.0	445,500	300	4,450.0	1,335,000		
							100	4,460.0	446,000	100	4,450.0	445,000		
							100	4,455.0	445,500	500	4,450.0	2,225,000		
							100	4,455.0	445,500	100	4,465.0	446,500		
							100	4,455.0	445,500	100	4,465.0	446,500		
							100	4,455.0	445,500	100	4,470.0	447,000		
							100	4,455.0	445,500	100	4,471.7	447,170		
							100	4,455.0	445,500	100	4,470.0	447,000		
							100	4,455.0	445,500	100	4,470.0	447,000		
							100	4,455.0	445,500	100	4,475.0	447,500		
							100	4,455.0	445,500	100	4,475.0	447,500		
							100	4,455.0	445,500	100	4,475.0	447,500		
							100	4,455.0	445,500	100	4,475.0	447,500		
							100	4,455.0	445,500	100	4,475.0	447,500		
							100	4,455.0	445,500	100	4,475.0	447,500		
							100	4,455.0	445,500	100	4,475.0	447,500		
							100	4,455.0	445,500	100	4,475.0	447,500		
							100	4,455.0	445,500	500	4,475.0	2,237,500		
							100	4,455.0	445,500	400	4,475.0	1,790,000		
							100	4,455.0	445,500	100	4,475.0	447,500		
							100	4,455.0	445,500	500	4,475.0	2,237,500		
							100	4,455.0	445,500	500	4,475.0	2,237,500		
							100	4,455.0	445,500	500	4,475.0	2,237,500		
							100	4,455.0	445,500	500	4,475.0	2,237,500		
							100	4,455.0	445,500	100	4,470.0	447,000		
							100	4,455.0	445,500	100	4,470.0	447,000		
							100	4,455.0	445,500	100	4,470.0	447,000		
							100	4,455.0	445,500	100	4,470.0	447,000 2 237 500		
							100	4,455.0	445,500	500	4,475.0	2,237,500		
								4,455.0	445,500	500	4,475.0	2,237,500		
							100	4,455.0	445,500	400	4,475.0	1,790,000		
							100 500	4,455.0 4,450.0	445,500 2,225,000	100 200	4,475.0 4,475.0	447,500 895,000		
										300				
							100	4,460.0	446,000		4,475.0	1,342,500		
							100	4,455.0	445,500	500	4,475.0	2,237,500		
							100	4,455.0	445,500	100	4,475.0	447,500		
							100	4,455.0	445,500	400	4,475.0	1,790,000		
							100	4,455.0	445,500	200	4,475.0	895,000		
		l		1			100	4,455.0	445,500	100	4,470.0	447,000 447,000		
				1			100	4,455.0	445,500	100	4,470.0			

- (1) "Initial Price" is the share price at the commencement of each violation. "Highest price" is the highest share price, and "Lowest Price" is the lowest share price, during a one-month period following the termination of each violation.

  (2) The highlighted portion shows the following calculation: (Value pertaining to sale, etc. of securities on its own account) (Value pertaining to purchase, etc. of securities on its own account)

				Ι					Value	of Sale	and Purchas	e		(011	nit: Yen, Share
Code	Issuer	Date	Time	Initial		Lowest		Sale (Y					(Yen)···Y		X-Y=Z
			(hh:mm:ss - hh:mm:ss)	Price	Price	Price	Shares	Price	Value	Note	Shares	Price	Value	Note	
							1,600	4,475.0	7,160,000		100	4,470.0	447,000		
							1,200	4,475.0	5,370,000		100	4,470.0	447,000		
							5,100	4,475.0	22,822,500		100	4,470.0	447,000		
							100	4,460.0	446,000		100	4,470.0	447,000	.	
							100	4,455.0 4,455.0	445,500 445,500		400 2,700	4,445.0 4,445.0	1,778,000 12,001,500		
							100	4,455.0	445,500		2,000	4,445.0	8,890,000		
							100	4,455.0	445,500		2,900	4,445.0	12,890,500		
							100	4,455.0	445,500		300	4,445.0	1,333,500		
							100	4,455.0	445,500		200	4,445.0	889,000		
							100	4,455.0	445,500		100	4,445.0	444,500		
							100	4,455.0	445,500		400	4,445.0	1,778,000		
							100	4,455.0	445,500		100	4,464.4	446,440		
							100	4,455.0	445,500		100	4,465.0	446,500		
							100	4,455.0	445,500		100	4,470.0	447,000		
							100	4,455.0 4,455.0	445,500		100	4,475.0	447,500		
							100	4,455.0	445,500 445,500		100	4,470.0 4,470.0	447,000 447,000		
							100	4,455.0	445,500		100	4,470.0	447,000		
							100	4,455.0	445,500		100	4,470.0	447,000		
							100	4,455.0	445,500		100	4,470.0	447,000		
							100	4,455.0	445,500		100	4,470.0	447,000		
							100	4,455.0	445,500		100	4,470.0	447,000		
							100	4,455.0	445,500		500	4,470.0	2,235,000		
							800	4,480.0	3,584,000		100	4,465.0	446,500		
							5,700	4,480.0	25,536,000		100	4,465.0	446,500		
							1,500 1,000	4,480.0 4,475.0	6,720,000		100 100	4,465.0 4,465.0	446,500 446,500		
							1,000	4,475.0	4,475,000 5,370,000		100	4,465.0	446,500 446,500		
							1,700	4,475.0	7,607,500		100	4,465.0	446,500		
							4,000	4,475.0	17,900,000		100	4,465.0	446,500		
							100	4,460.0	446,000		100	4,455.0	445,500		
							100	4,460.0	446,000		200	4,435.0	887,000		
							100	4,460.0	446,000		700	4,435.0	3,104,500		
							100	4,460.0	446,000		2,000	4,440.0	8,880,000		
							100	4,460.0	446,000		1,000	4,445.0	4,445,000		
							100	4,460.0	446,000		400	4,445.0	1,778,000	.	
							100	4,450.0	445,000		100	4,445.0	444,500	.	
							100	4,450.0 4,450.0	445,000 445,000		1,900	4,445.0 4,445.0	444,500 8,445,500		
							100	4,450.0	445,000		200	4,445.0	889,000		
							100	4,450.0	445,000		200	4,445.0	889,000		
							100	4,450.0	445,000		1,400	4,445.0	6,223,000		
							100	4,450.0	445,000		300	4,445.0	1,333,500		
							2,000	4,475.0	8,950,000		400	4,445.0	1,778,000		
							1,900	4,475.0	8,502,500		200	4,445.0	889,000		
							2,900	4,475.0	12,977,500		100	4,450.0	445,000	.	
							100 400	4,475.0 4,475.0	447,500 1,790,000		500 400	4,445.0 4,445.0	2,222,500 1,778,000		
							200	4,470.0	894,000		400	4,445.0	1,778,000		
							900	4,470.0	4,023,000		500	4,445.0	2,222,500		
							800	4,470.0	3,576,000		1,000	4,442.5	4,442,500		
							1,600	4,470.0	7,152,000		1,600	4,445.0	7,112,000		
							100	4,452.5	445,250		1,200	4,445.0	5,334,000		
							100	4,450.0	445,000		1,200	4,445.0	5,334,000		
l							100	4,450.0	445,000		100	4,435.0	443,500		
							100	4,455.0	445,500		100	4,435.0	443,500 1,774,000		
							100	4,455.0 4,455.0	445,500 445,500		400 3,000	4,435.0 4,445.0	13,335,000		
							100	4,455.0	445,500		1,000	4,445.0	4,445,000		
							100	4,455.0	445,500		1,400	4,440.0	6,216,000		
							100	4,455.0	445,500		100	4,454.6	445,460		
							100	4,455.0	445,500		100	4,455.0	445,500		
							100	4,455.0	445,500		100	4,455.0	445,500		
							100	4,455.0	445,500		100	4,455.0	445,500		
							100	4,455.0	445,500		100	4,455.0	445,500		
							100	4,455.0	445,500		100	4,455.0	445,500		
							100	4,455.0	445,500		100	4,455.0	445,500		
							1,500	4,455.0 4,455.0	445,500 6 682 500		100 100	4,455.0 4,455.0	445,500		
							1,500	4,455.0 4,460.0	6,682,500 446,000		100	4,455.0 4,455.0	445,500 445,500		
							100	4,460.0	446,000		100	4,455.0	445,500		
							100	4,460.0	446,000		100	4,455.0	445,500		
							100	4,460.0	446,000		100	4,455.0	445,500		
							100	4,460.0	446,000		100	4,460.0	446,000		
							100	4,460.0	446,000		100	4,460.0	446,000		
							100	4,460.0	446,000		100	4,460.0	446,000		
1		1		1			100	4,460.0	446,000		100	4,460.0	446,000		

- (1) "Initial Price" is the share price at the commencement of each violation. "Highest price" is the highest share price, and "Lowest Price" is the lowest share price, during a one-month period following the termination of each violation.

  (2) The highlighted portion shows the following calculation: (Value pertaining to sale, etc. of securities on its own account) (Value pertaining to purchase, etc. of securities on its own account)

									Value of S	ale and Purchas	e			
Code	Issuer	Date	Time (hh:mm:ss - hh:mm:ss)	Initial Price	Highest Price	Lowest Price		Sale (	′en)····X		Purchase	(Yen)···Y		X-Y=Z
			(111.11111.55 111.11111.55)	Frice	Frice	FIICE	Shares	Price	Value No	ote Shares	Price	Value	Note	
							100	4,460.0	446,000	100	4,460.0	446,000		
							100	4,450.0	445,000	100	4,460.0	446,000		
							100	4,450.0	445,000	100	4,460.0	446,000		
							100	4,450.0	445,000	100	4,460.0	446,000		
							100	4,450.0	445,000	100	4,460.0	446,000		
							100	4,450.0	445,000	100	4,460.0	446,000		
							100	4,450.0	445,000	100	4,460.0	446,000		
							100	4,450.0	445,000	100	4,460.0	446,000		
							100	4,445.0	444,500	100	4,460.0	446,000		
							100	4,445.0	444,500	100	4,460.0	446,000		
							100	4,435.0	443,500	500	4,460.0	2,230,000		
							100	4,435.0	443,500	200	4,460.0	892,000		
							100	4,440.0	444,000	100	4,455.0	445,500		
							100	4,440.0	444,000	100	4,455.0	445,500		
							100	4,440.0	444,000	100	4,455.0	445,500		
							100	4,440.0	444,000	100	4,455.0	445,500		
							100	4,440.0	444,000	100	4,455.0	445,500		
							100	4,430.0	443,000	100	4,455.0	445,500		
							100	4,430.0	443,000	100	4,455.0	445,500		
							100	4,430.0	443,000	100	4,455.0	445,500		
							100	4,430.0	443,000	100	4,455.0	445,500		
							100	4,430.0	443,000	100	4,455.0	445,500		
							100	4,430.0	443,000	700	4,455.0	3,118,500		
							100	4,425.0	442,500	400	4,450.0	1,780,000		
							100	4,425.0	442,500	100	4,450.0	445,000		
							100	4,430.0	443,000	100	4,450.0	445,000		
							100	4,430.0	443,000	1,400	4,455.0	6,237,000		
							100	4,430.0	443,000	1,200	4,460.0	5,352,000		
							100	4,450.0	445,000	7,100	4,440.0	31,524,000		
							100	4,450.0	445,000	100	4,445.0	444,500		
							100	4,440.0	444,000	100	4,450.0	445,000		
							100	4,435.0	443,500	100	4,455.0	445,500		
							100	4,435.0	443,500	100	4,455.0	445,500		
							100	4,435.0	443,500	100	4,455.0	445,500		
							100	4,435.0	443,500	100	4,455.0	445,500		
							100	4,435.0	443,500	100	4,459.4	445,940		
							100	4,435.0	443,500	100	4,460.0	446,000		
							100	4,435.0	443,500	100	4,460.0	446,000		
							100	4,435.0	443,500	100	4,460.0	446,000		
							700	4,435.0	3,104,500	100	4,460.0	446,000		
							300	4,435.0	1,330,500	100	4,460.0	446,000		
							2,000	4,435.0	8,870,000	100	4,460.0	446,000		
							100	4,430.0	443,000	100	4,460.0	446,000		
							1,000	4,435.0 4,450.0	4,435,000 4,450,000	100	4,460.0 4,465.0	446,000 446,500		
							1,000	4,450.0	4,450,000	100	4,465.0	446,500	-	
							200			100			-	
								4,465.0	893,000	_	4,465.0	446,500		
							500 500	4,465.0 4,460.0	2,232,500	100	4,465.0	446,500		
									2,230,000	100	4,465.0	446,500		
							7,500 500	4,460.0 4,460.0	33,450,000 2,230,000	100	4,465.0	446,500		
										_	4,465.0	446,500		
							200	4,460.0	892,000	100	4,465.0	446,500		
							800	4,460.0	3,568,000	100	4,465.0	446,500		
							100	4,460.0	446,000	100	4,465.0	446,500		
							1,000	4,455.0	4,455,000	300	4,455.0	1,336,500		
							100	4,455.0	445,500	100	4,450.0	445,000		
							100	4,455.0	445,500	100	4,450.0	445,000		
							100	4,455.0	445,500	100	4,450.0	445,000		
							100	4,455.0	445,500	100	4,450.0	445,000		
							100	4,455.0	445,500	400	4,435.0	1,774,000		
							500	4,455.0	2,227,500	3,900	4,435.0	17,296,500		
							100	4,445.0	444,500	1,000	4,435.0	4,435,000		
							100	4,450.0	445,000	400	4,435.0	1,774,000		
							1,000	4,460.0	4,460,000	1,000	4,435.0	4,435,000		
							4,800	4,460.0	21,408,000	700	4,435.0	3,104,500		
							100	4,460.0	446,000	300	4,435.0	1,330,500		
							400	4,460.0	1,784,000	700	4,440.0	3,108,000		
							1,600	4,455.0	7,128,000	1,600	4,450.0	7,120,000		
							1,000	4,455.0	4,455,000	1,100	4,405.0	4,845,500		
							100	4,455.0	445,500	3,100	4,405.0	13,655,500		
							400	4,455.0	1,782,000	900	4,405.0	3,964,500		
							100	4,455.0	445,500	100	4,415.0	441,500		
							100	4,455.0	445,500	100	4,415.0	441,500		
							500	4,455.0	2,227,500	100	4,415.0	441,500		
							3,700	4,455.0	16,483,500	100	4,415.0	441,500		
		1					1,000	4,455.0	4,455,000	100	4,417.5	441,750		
									445,000	100				
							100	4,450.0	445,000	100	4,417.5	441,750		

- (1) "Initial Price" is the share price at the commencement of each violation. "Highest price" is the highest share price, and "Lowest Price" is the lowest share price, during a one-month period following the termination of each violation.

  (2) The highlighted portion shows the following calculation: (Value pertaining to sale, etc. of securities on its own account) (Value pertaining to purchase, etc. of securities on its own account)

									Value	of Sale	and Purchas	e		(Ur	nit: Yen, Share)
Code	Issuer	Date	Time (hh:mm:ss - hh:mm:ss)	Initial Price	Highest Price	Lowest Price			'en)····X				(Yen)···Y		X-Y=Z
				-			Shares	Price	Value	Note	Shares	Price	Value	Note	
							100	4,445.0 4,445.0	444,500 444,500		100 100	4,415.0 4,415.0	441,500 441,500		
							100	4,445.0	444,500		100	4,415.0	441,500		
							100	4,445.0	444,500		100	4,415.0	441,500		
							100	4,435.0	443,500		100	4,415.0	441,500		
							100	4,435.0	443,500		100	4,415.0	441,500		
							100	4,435.0	443,500		100	4,415.0	441,500		
							100	4,435.0 4,435.0	443,500 443,500		100 100	4,419.5 4,420.0	441,950 442,000		
							100	4,435.0	443,500		100	4,420.0	442,000		
							100	4,435.0	443,500		100	4,425.0	442,500		
							100	4,435.0	443,500		100	4,425.0	442,500		
							800	4,435.0	3,548,000		100	4,425.0	442,500		
							300 100	4,435.0 4,430.0	1,330,500		100 100	4,425.0 4,425.0	442,500 442,500		
							100	4,430.0	443,000		100	4,425.0	442,500		
							200	4,430.0	886,000		100	4,428.5	442,850		
							200	4,430.0	886,000		100	4,430.0	443,000		
							200	4,430.0	886,000		100	4,430.0	443,000		
							100	4,430.0	443,000		100	4,430.0	443,000		
							100	4,430.0	443,000		100	4,430.0	443,000		
							100	4,430.0 4,430.0	443,000 443,000		100 100	4,430.0 4,430.0	443,000 443,000		
							100	4,430.0	443,000		100	4,430.0	443,000		
							100	4,430.0	443,000		100	4,430.0	443,000		
							100	4,430.0	443,000		100	4,434.9	443,490		
							100	4,430.0	443,000		100	4,435.0	443,500		
							100	4,430.0	443,000		100	4,435.0	443,500		
							100	4,430.0 4,430.0	443,000 443,000		100 100	4,435.0 4,435.0	443,500 443,500		
							100	4,430.0	443,000		100	4,435.0	443,500		
							100	4,430.0	443,000		100	4,435.0	443,500		
							100	4,430.0	443,000		100	4,435.0	443,500		
							100	4,430.0	443,000		100	4,440.0	444,000		
							100	4,425.0	442,500		100	4,440.0	444,000		
							100 100	4,425.0 4,425.0	442,500 442,500		100 100	4,440.0 4,444.9	444,000 444,490	-	
							500	4,440.0	2,220,000		100	4,445.0	444,500		
							100	4,445.0	444,500		100	4,445.0	444,500		
							100	4,445.0	444,500		100	4,445.0	444,500		
							1,000	4,440.0	4,440,000		100	4,445.0	444,500		
							2,300 900	4,435.0 4,430.0	10,200,500		100 100	4,445.0 4,445.0	444,500		
							200	4,430.0	3,987,000 886,000		100	4,445.0	444,500 444,500		
							200	4,430.0	886,000		100	4,445.0	444,500		
							400	4,430.0	1,772,000		100	4,445.0	444,500		
							600	4,430.0	2,658,000		100	4,450.0	445,000		
							100	4,430.0	443,000		100	4,450.0	445,000		
							2,200 1,900	4,430.0 4,430.0	9,746,000 8,417,000		100 100	4,450.0 4,454.9	445,000 445,490		
							400	4,430.0	1,772,000		100	4,455.0	445,500		
							400	4,430.0	1,772,000		100	4,455.0	445,500		
							200	4,430.0	886,000		100	4,455.0	445,500		
							500	4,435.0	2,217,500		100	4,455.0	445,500		
							5,300 700	4,435.0 4,435.0	23,505,500 3,104,500		100 100	4,455.0 4,455.0	445,500 445,500		
							100	4,435.0	442,000		100	4,450.0	445,000		
							100	4,420.0	442,000		100	4,430.0	443,000		
							100	4,420.0	442,000		100	4,430.0	443,000		
							100	4,420.0	442,000		100	4,430.0	443,000		
							100	4,420.0	442,000		100	4,430.0	443,000		
							100 100	4,420.0 4,420.0	442,000 442,000		100 100	4,430.0 4,425.0	443,000 442,500		
							100	4,425.0	442,500		100	4,425.0	442,500		
							100	4,425.0	442,500		100	4,396.5	439,650		
							100	4,425.0	442,500		100	4,399.5	439,950		
							100	4,425.0	442,500		800	4,400.0	3,520,000		
							100	4,425.0	442,500		2,300	4,405.0	10,131,500		
							100	4,415.0 4,415.0	441,500 441,500		100 400	4,404.9 4,405.0	440,490 1,762,000		
							100	4,412.5	441,300		2,200	4,405.0	9,691,000		
							100	4,410.0	441,000		900	4,405.0	3,964,500		
							100	4,410.0	441,000		100	4,413.0	441,300		
							100	4,410.0	441,000		300	4,415.0	1,324,500		
							100	4,410.0	441,000		2,700	4,420.0	11,934,000		
I	I	I	L	I			100	4,410.0	441,000		4,600	4,420.0	20,332,000		

- (1) "Initial Price" is the share price at the commencement of each violation. "Highest price" is the highest share price, and "Lowest Price" is the lowest share price, during a one-month period following the termination of each violation.

  (2) The highlighted portion shows the following calculation: (Value pertaining to sale, etc. of securities on its own account) (Value pertaining to purchase, etc. of securities on its own account)

									Value of Sa	le and Purchas	se			
Code	Issuer	Date	Time (hh:mm:ss - hh:mm:ss)	Initial Price	Highest Price	Lowest Price		Sale (	ren)····X		Purchase	(Yen)···Y		X-Y=Z
			(111.11111.55 111.11111.55)	Frice	Frice	FIICE	Shares	Price	Value Not	te Shares	Price	Value	Note	
							100	4,410.0	441,000	800	4,420.0	3,536,000		
							100	4,410.0	441,000	2,000	4,415.0	8,830,000		
				1			100	4,410.0	441,000	1,000	4,415.0	4,415,000		
							100	4,410.0	441,000	1,000	4,415.0	4,415,000		
							100	4,410.0	441,000	1,600	4,420.0	7,072,000		
							100	4,410.0	441,000	900	4,420.0	3,978,000		
							100	4,410.0	441,000	500	4,420.0	2,210,000		
							100	4,410.0	441,000	800	4,415.0	3,532,000		
							100	4,410.0	441,000	100	4,427.5	442,750		
							100	4,410.0	441,000	100	4,430.0	443,000		
							100	4,410.0	441,000	100	4,430.0	443,000		
							3,700	4,410.0	16,317,000	100	4,430.0	443,000		
							400	4,410.0	1,764,000	100	4,430.0	443,000		
							1,400	4,410.0	6,174,000	100	4,430.0	443,000		
							1,500	4,410.0	6,615,000	100	4,430.0	443,000		
							500	4,410.0	2,205,000	100	4,430.0	443,000		
							100	4,401.5	440,150	100	4,430.0	443,000		
							100	4,400.0	440,000	100	4,430.0	443,000		
							100	4,400.0	440,000	100	4,430.0	443,000		
							100	4,400.0	440,000	100	4,430.0	443,000		
							100	4,400.0	440,000	100	4,430.0	443,000		
							100	4,400.0	440,000	100	4,430.0	443,000		
				1			100	4,400.0	440,000	100	4,430.0	443,000		
							100	4,400.0	440,000	100	4,430.0	443,000		
							100	4,400.0	440,000	100	4,430.0	443,000		
							100	4,400.0	440,000	100	4,430.0	443,000		
							100	4,400.0	440,000	100	4,430.0	443,000		
							100	4,396.5	439,650	100	4,430.0	443,000		
							100	4,395.0	439,500	100	4,430.0	443,000		
							100	4,395.0	439,500	100	4,430.0	443,000		
							100	4,390.0	439,000	100	4,430.0	443,000		
							100	4,385.1	438,510	100	4,430.0	443,000		
							100	4,395.0	439,500	100	4,430.0	443,000		
							100	4,395.0	439,500	100	4,415.0	441,500		
							100	4,395.0	439,500	900	4,410.0	3,969,000		
							100	4,390.0	439,000	300	4,410.0	1,323,000		
							100	4,390.0	439,000	100	4,410.0	441,000		
							100	4,390.0	439,000	400	4,415.0	1,766,000		
							100	4,390.0	439,000	100	4,415.0	441,500		
							100	4,390.0		400	4,415.0			
							100	4,390.0	439,000			1,766,000		
									439,000	100	4,419.5	441,950	-	
							100	4,390.0	439,000	600	4,420.0	2,652,000	-	
							100	4,390.0	439,000	100	4,420.0	442,000	-	
							100	4,390.0	439,000	3,100	4,420.0	13,702,000	-	
							100	4,390.0	439,000	2,900	4,420.0	12,818,000	-	
							100	4,390.0	439,000	100	4,428.0	442,800	-	
							100	4,390.0	439,000	100	4,428.5	442,850		
							100	4,390.0	439,000	100	4,428.5	442,850		
							100	4,390.0	439,000	100	4,430.0	443,000		
				1			100	4,390.0	439,000	100	4,430.0	443,000		
				1			100	4,390.0	439,000	100	4,430.0	443,000		
							100	4,390.0	439,000	100	4,430.0	443,000		
							100	4,390.0	439,000	100	4,432.3	443,230		
							100	4,390.0	439,000	100	4,432.3	443,230		
							100	4,390.0	439,000	100	4,432.3	443,230		
				1			100	4,390.0	439,000	100	4,432.3	443,230		
				1			100	4,390.0	439,000	100	4,432.3	443,230		
				1			100	4,390.0	439,000	100	4,435.0	443,500		
							100	4,390.0	439,000	100	4,435.0	443,500		
							100	4,385.0	438,500	100	4,435.0	443,500		
							100	4,385.0	438,500	100	4,440.0	444,000		
				1			100	4,385.0	438,500	100	4,438.5	443,850		
				1			100	4,385.0	438,500	100	4,440.0	444,000		
				1			100	4,385.0	438,500	100	4,435.0	443,500		
				1			100	4,390.0	439,000	100	4,435.0	443,500		
							100	4,390.0	439,000	100	4,435.0	443,500		
							100	4,425.0	442,500	100	4,435.0	443,500		
				1			100	4,416.5	441,650	100	4,434.9	443,490		
							100	4,415.0	441,500	100	4,434.9	443,490		
							100	4,415.0	441,500	100	4,434.9	443,490		
							100	4,415.0	441,500	200	4,434.9	886,980		
							100	4,425.5	442,550	300	4,434.9	1,330,470		
				1			400	4,425.0	1,770,000	500	4,435.0	2,217,500		
				1			3,500	4,425.0	15,487,500	500	4,435.0	2,217,500		
							100	4,415.0	441,500	300	4,435.0	1,330,500		
							100	4,415.0	441,500	500	4,430.0	2,215,000		
				1		1			441,500					
							100	4,415.0	441,300					

- (1) "Initial Price" is the share price at the commencement of each violation. "Highest price" is the highest share price, and "Lowest Price" is the lowest share price, during a one-month period following the termination of each violation.

  (2) The highlighted portion shows the following calculation: (Value pertaining to sale, etc. of securities on its own account) (Value pertaining to purchase, etc. of securities on its own account)

			_	Τ					Value	of Sale	and Purchas	se		(Ur	nit: Yen, Share
Code	Issuer	Date	Time (hh:mm:ss - hh:mm:ss)	Initial Price	Highest Price	Lowest Price		Sale (Ye	en)····X			Purchase	(Yen)···Y		X-Y=Z
			,,				Shares	Price	Value	Note	Shares	Price	Value	Note	
							100	4,425.0	442,500						
							100	4,425.0	442,500						
							100	4,425.0	442,500						
							100	4,425.0	442,500						
							100	4,425.0	442,500						
							100	4,425.0	442,500						
							100	4,425.0	442,500						
							100	4,425.0	442,500						
							100	4,425.0	442,500						
							100	4,425.0	442,500						
							100	4,425.0	442,500						
							900	4,425.0 4,425.0	442,500						
									3,982,500						
							100 300	4,426.0 4,425.0	442,600 1,327,500						
							100	4,426.5	442,650						
							100	4,425.5 4,430.0	442,550 443,000						
							100	4,430.0	443,000						
							100	4,430.0	443,000						
							100	4,430.0	443,000						
							100	4,430.0	443,000						
							100	4,430.0	443,000						
							100	4,430.0	443,000						
							100	4,430.0	443,000						
							100	4,430.0	443,000						
							100	4,430.0	443,000						
							100	4,425.6	442,560						
							100	4,425.5	442,550						
							100	4,425.5	442,550						
							100	4,425.5	442,550						
							100	4,425.3	442,530						
							100	4,425.3	442,530						
							100	4,425.3	442,530						
							100	4,425.2	442,520						
							100	4,425.0	442,500						
							100	4,425.0	442,500						
							100	4,425.0	442,500						
							100	4,425.0	442,500						
							100	4,425.0	442,500						
							100	4,425.0	442,500						
							100	4,425.0	442,500						
							100	4,425.0	442,500						
							600	4,440.0	2,664,000						
							3,000	4,440.0	13,320,000						
							400	4,440.0	1,776,000						
							400	4,440.0	1,776,000						
							400	4,435.0	1,774,000						
							500	4,430.1	2,215,050						
							100	4,430.0	443,000						
							100	4,430.0	443,000						
							1,000	4,430.0	4,430,000						
							100	4,430.0	443,000						
							100	4,430.0	443,000						
							100	4,430.0	443,000						
							100	4,425.0	442,500						
							400	4,425.0	1,770,000						
							900	4,425.0	3,982,500						
							234,900		1,045,164,990		234,900		1,042,087,18		3,077,810
													:	Subtotal	3,077,810